FEEEIN1E2014 Problem C
NS ERkas

= HpE
Z JuH, &, H._L,

fRifw, {PEE, ZBRE
: JHE%

& o
I

BN
+J
ol
S




b=

o LITOLORIEEZTZEZRS
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5 XDES(1/4)

B XDES(IWOWD [HEXEET] DfbRE

« ICPCTRIZOTZOHRESNE I (AEIREDN S UW\EDET)
» ERTE : 20084EC, 20134EC

.+ FITHIXFIE 1 20094EF, 20104F], 20114EH
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5 XDES(2/4)

e <Cipher> ::= <String> | <Cipher><String>

« “Cipher (& String ", Cipher&String ZilliNNTZEHD" EVWDRLR

- SEMIZEIL, Cipher (& String Z 1B EWARZEDEULT
NiE7Z U CRUVW(UANESR EAEIEH B CIRDIZEIEER)

e Cipher Zi5OEEDEES!

string readCipher(){
string res = “7;
// A TUL\BCipherDi&inRICRBDETStringZ i)
// [JCTEIHNTUL\BCipherDiZE (L’ 1’ HY &G
while(idx < s.size() && s[idx] != ]°){
res += readString();

}

return res;
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55X DES(3/4)

e <String> ::= <lLetter> | '['<Cipher>']’
e ‘['TWENIL [<Cipher>], 25 TRIFNIE<Letter>
o String’z&HtO RIZRDE=S]

string readString(){
string res = “7;
if(s[idx] == “[’){
++idx; // [“DT
res = readCipher(); // []ADCipherz L

reverse(res.begin(), res.end()); // MFHIDER(C++)
++idx; // 1D

} else {

res = readlLetter(); // <Letter>Ziid)EI%K
}
return res;

}

JAG R E N F:#2014




5 XDES(4/4)

o <letter> ::="+'<Letter> | -'<Letter> | [A-Z]
o LetterZzsROREAZNMERHI(?DIULIE (T EHEE)

string readLetter(){
if(s[idx] == “+’){
++idx; // “+°D7
string res = readlLetter();
res = nextLetter(res); // res@RMDI7)L T 7w ~IT D (EERL)
} else if(s[idx] == “-’){
// ‘+’<Letter> &E[EEK
} else {
// s[idx]([FKRXFDTFILIT 7 RwY ~
// idxZ1EsD, s[idx]DEFRDI7ILIT 7Ry NzilR9
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